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import java.util.*;
class Solution {
public String solution(String s) {
int[] cnt = new int[26];
for(char ¢ : s.toCharArray()) {

cntfc - 'a'l++;

StringBuilder sb = new StringBuilder();



for (int 1 = 0; 1 < 26; i++) {
if (cnt[i] == 1) sb.append((char)i+'a');
}

return sb.toString();

0om mf Mo opn  og M oo o g

class Solution {
public String solution(String my string, int[][] queries) {

StringBuilder sb = new StringBuilder(my string);

// 0 000 00 00 0000 000
for (int[] query : queries) {
int s = query[0];
int e = query[1];
reverse(sb, s, e); // 00 [s, ell OO0 DOD OO

return sb.toString();

//00 000 DOO 000 (swap OO 0O)

private void reverse(StringBuilder sb, int start, int end) {
while (start < end) {
swap(sb, start, end); // 0O 00 00 OO
start++;

end--;

// 00 0000 000 0000 000

private void swap(StringBuilder sb, int i, int j) {
char temp = sb.charAt(i);
sb.setCharAt(i, sb.charAt(j));
sb.setCharAt(j, temp);
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private void swap(StringBuilder sb, int i, int j) {

char temp = sb.charAt(i);

sb.setCharAt(i, sb.charAt(j));

sb.setCharAt(j, temp);
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private void reverse(StringBuilder sb, int start, int end) {

while (start < end) {

swap(sb, start, end);
start++;

end--;

e swap() = [N

e reverse() = swap(] 1] [ 1 [ I 1
e solution() — queries[][J[I1][I] reverse [I]

? for (int[] query : queries)

e for-each] Il [ O int[]0 010 o 0o oo 0 M

? sb.setCharAt(i, sb.charAt());

e[ IO Java[ll StringBuilder[[] sbQ 0 OO j OO OO OO

sb.setCharAt(i, sb.charAt(j));
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StringBuilder sb = new StringBuilder("hello");
sb.setCharAt(1, sb.charAt(4)); // 'e' - 'o'
System.out.println(sb); // 00: "hollo"
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